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L. M dH

= (CIAl) & ArEH] 10 o3t ALY

1.4 DSME =ZAl 1.4.1 A O H| 500,000 1 1.00Q CHA| E M (X M) 500,000

1.4.2 AlCy 30,000 1 50.003|2[H| 19!t 30,0002 1,500,000

5,000 1 50.00C}ZfH| 19IE 5000 250,000

1.43 EEZZH|H| 100,000 1 1.00344=0HZ4 & A) 100,000

3,000 60 1.00Z+o| O| Xt Ikt 7H St 30000 180,000

DA BN DB Q| Ak ACH 10|
1.4.4 B4t 50,000 1 20.00- ﬁle STE YH+E 128 1,000,000
50,0009
14542 =4 300,000 5 1.00%| A H|-2 4! A/X{ = 3000008 1,500,000
1.4.6 ALZl EH 200,000 1 1.00AMRIE S 2 12 £HJ} 20000002 200,000
« 1.4 uFME EF4 Ljo|M 1.4.12] FACHo{H|7} of|4HHd A ECE EW A HEHO=E QO ARk|=
—-_— o HF =3 = I o =] 13 [o] X=2
&42650,0008!)0| HMH S uf, OHE 1.4.32] SEFH|H[S| H| 80| ME TAE|X| ¢S A=
< olo F 1 1 1 ’ 3 =
0l1%(130,000 2t E&l) |0 ‘Z'(1.4)LH ‘MIF'(1.4.13} 1.4.3 AO|OAM)Zt HE T EH X2 7t
1.4 DSME Z=ZAl 1.4.1 ZEACHO(H| 650,000 1 1.00 A CH A E M (ZAE M) 650,000
1.4.2 AlCy 30,000 1 50.00%] 9| H| 19I5} 30,000 1,500,000
5,000 1 50.00C}THH| 19154 50002 250,000
1.43 EZH|H| 130,000 1 1.0034=0HZA X A) 130,000
3;000 60 1007+ OP A2 -30000-2 180,000
IHEK B9 xFAACH|0|CH

1.4.4 E-M At 50,000 1 zo.ooé—oﬁlo'(')'%1 S7E g4+ 128 1,000,000
145A2 =H 300,000 5 1.00%| A H| -2 2! A/ X} Z 3000002 1,500,000
1.4.6 AFRl =S 200,000 1 1.00AFRIE Y 29 12 £t} 20000008 200,000
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(Activity) (Input)

(Outcome)
1. MS™IA SkAl 11 DEAME ME 111 M2 2EE
112 7b3 79!

H S o

1137t7 25HIE

1.1.4 PC FLO{

12 SX| g2yl 121 ZALR
122 8HA=R

1.2.3 XtE K| EHH]|

« 1.1 uSME AT oM 1.1.12] ME 2|22 H|7} of| AHE AJECH 23 Al A

HFEAHSH 2
N = a—]

A+249,137,5009)0]

ToHE)
(Unit Cost in KRW)

8,000,000

50,000

35,000

50,000

1,500,000

850,000

200,000
250,000
140
500

M| AHS LY A (Details of Cost Estimates)
Qlgl/Eolg Ck7} AbZS 27 (Basis of Calcuation)
1 100A% A (AN
150 1.00% A
150 1.009| X}
150 1.00AF2 8
1 1002 BAHAKM)
30 100PC 0§ A A(ATIA)
5 1007 N
39 M&E7}1 200,000 * A4 15% * 55| 29|
12 2000 SAtE 2/ ™M 271291
SH20] -> 2 2HH| A
5o so0ottROl > EEATIAOf

1401/X} * 650K} * S0%
50  100.0050091/%t * 50% * 1008

Ixoz
.I

Ard] A

(Budget in KRW)

8,000,000
7,500,000
5,250,000
7,500,000
1,500,000

25,500,000
0
1,000,000
6,000,000
4,550,000
2,500,000

oo AQE|=
mj, OrE 1.2.32] Xt X ZHH|IM AR E 2 HESIHA HAR T}

HZE|0{(1,137,5008) E[0f ‘&H(1)W ‘2'(1.1-1.1.13} 1.2-1.2.3 AO|Of|M)Zt ML 3 EH N2| 7I5
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(Outcome) (Activity)

LusEId Y 11

EH7HE)

(Unit Cost in KRW)

usde 4 11145 2223

1127t 7+¥

1137t 2&HIE

1.1.4 PC F0Y

12 SX| d2tyst 121 8AE

122 EHAZ
1.2.3 XF 2 ¥| ZHH|

9,137,500
50,000
35,000
50,000

1,500,000

850,000

200,000
250,000
105
500

=

| 5 AH= LY S (Details of Cost Estimates)

24/31 % (unit) olel/atolg CH7} AbZS 274 (Basis of Calcuation)

1 10071% AEME)
150 1.00%H A}
150 1.009| X}
150 1.00AH2 S}
1 1002 B7OHZAZA)
30 1.00PC 70§ A MZEA)
5 100 N
33 M2 7} 200,000 * A4 15 * 53] 2+
12 2000 SAE 2t/ ME 729
— =
650 50002 01 > SO

1052/} * 650K} * 50%}
50  100.005002l/%} * 50%} * 1005

At A
(Budget in KRW)

9,137,500
7,500,000
5,250,000
7,500,000
1,500,000

25,500,000
0
1,000,000
6,000,000
3,412,500
2,500,000
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(Activity)

SHE 8

= =}
& =
(Activity)

13.1=29Q|0fH|

(Outcome)

13. = 2| G4 H|

« 13.1.19 320
=20} 5l= 4%
1.0 F Y B
. (7l d) PC Y& ALt
25,260,000 22

M
(Input)

L11ME 2 2l
112 7k 79

1137} 22H|8

1.1.4 PC O}

He
(Input)

13.1.1 & 0] 212 2| OfH|

():“Al- m A

- - O

2L 1.1
X7t S5

Al BLt #HEF0|

EH7HE)
(Unit Cost in KRW)

8,000,000
50,000

35,000
50,000
1,500,000

850,000

oHe)
(Unit Cost in KRW)

1,500,000
39,585
65,598

125,541
10,000
10,000
30,000
80,000

oH
Xt2F 10 2 842,000¥ 22 Aok 1.1.4

MELELS

QI/Eo e

wSME EE S MF0M £

/e 7} Abz 274 (Basis of Calcuation)
1007135 7| 8 M(H )
1.00%H4 Af
1.009| Xt

1.00AM2 ¢
1002 57 H(Z X M)

1.00PC L0 A|2] (AR A)

(Details of Cost Estimates)

CH7} A2 2 7{(Basis of Calcuation)

2.002t 832 (invoice 22 AXA)
2.002H| CHX| ¥ 1-22 35$=39585

2.00AIH| CHX| 9 1-22 585=65598
2.00=8HH| CHX| 9 1-22 AlH| 111$=125541
2.000{MA EE = 1L 7| 10,000
2.009tM 25 2 12 7| & 10,0008

2,00 EH| 7|F 1/4(421%) 1< 30,0008
2.00FH|F(H|XL Q| E &

o Y H oM NS Y WY
I'c'>'|-| II_l-OH% .g.

Tt 240,000 0] 2, off2k U2 13112 HE

At A
(Budget in KRW)
8,000,000
7,500,000
5,250,000
7,500,000
1,500,000

25,500,000

At A
(Budget in KRW)
6,000,000
1,266,720
2,099,136
3,515,148
320,000
320,000
960,000
160,000
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(Outcome)

13. = 2| G4 H|

1.1.49]

SHE 8

13.1=29Q|0fH|

=
=
(Activity)

1.1.4 PC FOY

=
=
(Activity)

YT 240,0008!

L11ME 2 2l
112 7k 79

1137} 22H|8

13.1.1 & 0] 212 2| OfH|

M

(Input) CE7HR)

(Unit Cost in KRW)

8,000,000
50,000

35,000
50,000
1,500,000

842,000

M
(Input) CH7HR)
(Unit Cost in KRW)
1,560,000
39,585
65,598
125,541
10,000
10,000
30,000
80,000

= 13,112 HE

M ALY A (Details of Cost Estimates)
£=2F/31 2= (unit) oll/Eo g CH2} Abz= 2 7{(Basis of Calcuation)
1 1.007435 A= M (AH)
150 1.00%H A
150 1.002| Xt
150 l.OOA}‘%Q‘
1 1002 S KK M)
30 1.00PC F10Of LS M( Ab= =)
M| AHS LY A (Details of Cost Estimates)
/3 (unit) QI/Eo e CH7} £hE 27 (Basis of Calcuation)
2 2.0083-2Q(invoice =22 AX A])
16 2.002H| C}X| & 1-22 355=39585
16 2.00AH| CFX| & 1-22 585=65598
14 2.00=HHH| C}X| 9 125 AlH| 111$=125541
16 2.000{MA EE = 1L 7| 10,000
16 2.009tM 25 2 12 7| & 10,0008
16 2.000EH| 7|F 1/4(4915) 1L 30,0008
1 2.00FH|F(H|AL o|2%F &

At A
(Budget in KRW)
8,000,000
7,500,000
5,250,000
7,500,000
1,500,000

25,260,000

At A
(Budget in KRW)
6,240,000
1,266,720
2,099,136
3,515,148
320,000
320,000
960,000
160,000
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= (B o AtEY nE
o A|DIAFS|H BT 2 T2 A W(0]| LA ZHS) part 1(htips/Avwyoutubecom/Awatchv=JSf TAly-eF&t=13s)
o A|RIAS|H I 2 T3 | A WK (0] LA ZHS) part 2(https/AvvyoutubecomAnatchy=6MuunkHpVE4)
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